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forst ifftha & fife tieg @i & for fve oft 1 JuaiT fopan Sra § 2

(A) Ctrl+Shift+S  (B) Ctrl+Shift+O  (C) Cirl+Shift+T (D) Ctrl+Shift+X
Which key is used to open Print Preview in LibreOffice ?

(A) Ctrl+Shift+S ~ (B) Ctrl+Shift+O  (C) Ctrl+Shift+T (D) Ctrl+Shift+X

forst Sfffthe SR § Pl el (AT § 2

(A) TS &g H (B) U & S A
(C) USHdH (D) U &b
Where FootNote is Located in LibreOffice Writer ?

(A) Header of Page (B) Top of page

(C) Middle of Page (D) Bottom of Page

@W%W%ﬁﬁﬁ?ﬁ%ﬁ%ﬂﬁwﬁmwmw
?

(A) Command+P (B) Citrl+P

(C) Caps+P (D) SWIGdH Y DI 8!

Which shortcut key is used to print the web page for Windows OS ?

(A) Command+P (B) Citrl+P

(C) Caps+P (D) None of the above

forst 3fifthe Igex # g avA & forg ol BT ITINT foraT ST 5|

(A) Ctrl+Y (B) Citrl+Z (C) Citrl+X (D) Cirl+V
key is used for redo in LibreOffice Writer.

(A) Ctrl+Y (B) Citrl+Z (C) Cirl+X (D) Citrl+V

TSforaie & ey §, Rafafed § 3 oF I/ sy I8t ek 2

. ug fefea Efsar vimT & ded TR gRI Udifad U fSfored ares Rier Bl

Il. T 3MUP! U 3-SIAST db Uga- Bl AT T § TR 3T fopdt +ft =M W
G

(A) Had | (B) ad Il

(C) |31l gt (D) AdrISRATS I

Regarding “DigiLocker”, which of the following statements is/are correct ?
l. It is a digital locker system offered by the Government under Digital India

Programme.
[I. It allows you to access your e-documents irrespective of your physical location.
(A) lonly (B) Il only
(C) Bothland Il (D) Neither I nor I
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6. oI 3iifthg $eob & U BhH ﬁﬂ?_?@?ﬂ%.

(A) gufATar (B) = (C) AR (D) %

In LibreOffice Calc, a function should start with .

(A) Alphabet (B) = (C) Number (D) %
7. d9TIY P & &g | t HgT 91T .

(A) JUAIAR (B) JUISMR (C) Y3MR3g (D) F3IRTA

A Web address is also called as :

(A) ULR (B) UPR (C) URI (D) URL
8. forsl Siifthd Igex H U SINECRH [ UBR HT1 gl © 2

(A) Wige (B) TS

(C) TSWHY (D) Tice 3R Texhy gl

Which is the type of page orientation in LibreOffice Writer ?

(A) Portrait (B) Slide

(C) Landscape (D) Both Portrait & Landscape
9. @ T fFy MR & SIpTRIA BIEd X6l & ?

(A) /bin/ (B) /root/ (C) /dev/ (D) Jetc/

Which of the following directories contains the configuration files ?

(A) /bin/ (B) /root/ (C) /dev/ (D) Jetc/

10. forst ofifthy & T SR WAl & oy Aicdhe Foit FT 8 ?

(A) F11 (B) F6 (C) F12 (D) F9

What is the shortcut key for Styles and Formatting in LibreOffice ?

(A) F11 (B) F6 (C) F12 (D) F9
11, forsl SiTfthe o g% XM = &1 Ul f[ddhed DI A g 2

(A) THe - &R (B) Ue-geR

(C) H-TR (D) TR

Which is the correct option to insert header in LibreOffice ?

(A) Format — header (B) Edit - header

(C) View — header (D) Insert — header
12. oo Srsxicy fewiee U ¥ 7T Calc FH & 2

(A) 3 (B) 4 (C) 1 (D) 2

How many spreadsheets create new Calc by default ?

(A) 3 (B) 4 (C) 1 (D) 2
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13. TIWUO. ST QUi wUg:
(A) SMTYR 3G THC I
(B) SMYR TRIE UHe ey
(C) SMYR SAdcE UHe ey
(D) T8 I B g
AEPS stands for :
(A) Aadhaar Enabled Payment Source
(B) Aadhaar Enrolled Payment System
(C) Aadhaar Enabled Payment System
(D) None of the above

14, SAT H 3feTdc o1 AfHaH MPR T | ?

(A) 25MB (B) 25TB (C) 25GB (D) 25 KB
What is the max size of attachment in Gmail ?
(A) 25 MB (B) 25TB (C) 25GB (D) 25 KB

15. Pidrs & T1H Y fhl BIEd &1 A1 daaq & (o v TaR it BT TNT T ST
g7

(A) F1 (B) F2 (C) F3 (D) F4
Which function key is used to change the name of any file through the keyboard ?
(A) F1 (B) F2 (C) F3 (D) F4
16. forst oifftha o Ry &1 faswe fea A 8 8 2
(A) THC (B) T (C) (D) P Tel
In which menu is the option of Thesaurus in LibreOffice ?
(A) Format (B) Tools (C) View (D) None
17. DH ATTH UHR & S a1 ¢ ?
(A) e B (B) BISfeis Pricl
(C) ¥blc Bt (D) g Ha
Which one is not a type of kernel ?
(A) Monolithic kernel (B) Hybrid kernel
(C) Scott kernel (D) Micro kernel
18. forsl Siffth Wger o 3HfIHTH T Ufawd JHa § 2
(A) 100% (B) 600% (C) 400% (D) 800%
maximum zoom percentage possible in LibreOffice Writer ?
(A) 100% (B) 600% (C) 400% (D) 800%
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19.

20.

21.

22.

23.

24,

fore oiffthg Tz | TS TG RM BT IUTNT SHIdie & fort fahar oirar g

(A) xlx (B) .ixt (C) .doc (D) .ot
file extension is used for template in LibreOffice Writer.
(A) xIx (B) .txt (C) .doc (D) .oft

qul hH & foT fors) Siffth bl Qicehe Hoil T § 2

(A) Ctrl + Shift + J (B) Ctrl + Shift + K

(C) Shift + | (D) I gl

What is the shortcut key to full screen LibreOffice ?

(A) Ctrl + Shift + J (B) Ctrl + Shift + K

(C) Shift +j (D) None

forst 3ffth e IR H, TRe DI JSKHY T3 & g o1 IUTNT fordT ST B
(A) Ctrl+Shift+F5 (B) Ctrl+Shift+V

(C) Citrl+Shift+B (D) Ctrl+Shift+F1

In LibreOffice Writer, key is used for subscript the text.
(A) Ctrl+Shift+F5 (B) Ctrl+Shift+V

(C) Citrl+Shift+B (D) Ctrl+Shift+F1

IR Al ddR 3R TR Rrew frgd I g

(A) fearzy SRad (B) Rred diwed?

(C) UlWIheH Fitedx (D) FEIHES AFed?
Communication software and operating system are examples of :
(A) Device drivers (B) System software

(C) Application software (D) Customized software

fors 3iTthg Tgex & At Aot fopg AL H U e & 2

(A) BTEd (B) T (C) T D F
In LibreOffice Writer, the mail merge is found in which menu ?
(A) File (B) Insert (C) Tools (D) View

9 09 o 0 axg A TRAT Aead W SUTNT 18! &1 ofTdl § ?

(A) PR (B) HISH (C) iR (D) dHad
Which of the following items is not used in Local Area Networks (LANS) ?
(A) Computer (B) Modem (C) Printer (D) Cable
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25.

26.

27.

28.

29.

g PR & ST ) fonT ST HET T g 2
(A) T arge (B) WM SR (C) Herarge (D) Uersmse

Which size of data is called as Big Data ?
(A) Giga byte (B) Mega byte (C) Meta byte (D) Peta byte

o 3fhT S o U wogs  Sifieha fhd o SIS o 9hd § 2

(A) 4 (B) 2 (C) 10 (D) 6
What is the maximum number of views can be added to a slide in LibreOffice
Impress ?

(A) 4 (B) 2 (C) 10 (D) 6
forst i1t b & BHd 69 Ui ¥ Y& Bl © 2

(A) $ (B) @

(C) = (D) SWIdd H Y Bl gl

A formula start with which symbol in LibreOffice Calc ?

(A) $ (B) @

(C) = (D) None of the above

STSdS BT IUANT o o fopan SaT 6 -

(A) TRRY IeT 3Rl

(B) dRAfd®H T HAARA D! 3T BT AISHRTIR ST oA 3R U 1 &
fo U FHrall §

(C) e IaR & forg IuanT fohan SIra §

(D) &dd & TR & forw IuanT fear S 8

Broadband is used for :

(A) Wireless data transfer

(B) The actual internet connection that your modem/router uses to send and
receive data

(C) Is used for intranet communication

(D) Is used only for voice communication

STHHd-3Ad Id & ol 98! Uy g

(A) abc@gmail.com (B) abc@gmail-com
(C) abcgmail@com (D) 379 QA PIg gl
Choose the correct format for Gmail-email address :

(A) abc@gmail.com (B) abc@gmail-com
(C) abcgmail@com (D) None of the above
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30.

31.

32.

33.

34.

35.

frafiied & 9 & W 16 LI fausH TR g ?

(A) #DIV/0! (B) #DIV/0 (C) #D/0! (D) #Dl/0!
Which one of the following is zero division error ?

(A) #DIV/0! (B) #DIV/0 (C) #D/0! (D) #Dl/0!
fore sfffth g | T ¥ U 3l SR dices HHIS UTe ofd & |
(A) rHe B A (C) T (D) T
An italic and bold commands are found in menu in the LibreOffice
Writer.

(A) Format (B) View (C) Tools (D) Insert
forst 31fth T 3 # 'URE 3MWIHCS CRe’ BI Tedhe ol T g ?

(A) Ctrl + Shift + Alt + V (B) Ctrl + Shift + V

(C) Ctrl+V (D) 399 I BIs Ta!

What is the shortcut key in LibreOffice Impress for 'Paste Unformatted Text' ?
(A) Ctrl + Shift + Alt + V (B) Ctrl + Shift + V

(C) Ctrl+V (D) None of these

UoieTH ¥ Wrse R JAg Auiid A & o fhsest Suai fear S g 2
(A Reda (B) W3S g

(C) WSS IS ({53 (D) ¥ilgs ¢dl

Which is used to determine the timing on a slide in a presentation ?

(A) Rehearsal (B) Slide Timer

(C) Slide Timing Tool (D) Slide Tool

SRS ? el fadwed I :

(A) Had U a§ Ul § (B) UE ISNISC U1 A9 UGl §I Uhdll §
(C) U Uyuf Jawrse § (D) TH AP TS

What is blog ? Choose the correct option :

(A) s aWeb page only (B) It can be Website or Web Page
(C) Is a complete Website (D) None of the mentioned

forst it Mgex T IfcresT WA o3 & AT ford Qicdhe ol &1 SUTNT fhar Srar
g7

(A) Ctrl+F11 (B) Ctrl+F12 (C) Ctrl+F10 (D) Ctrl+F9
Which shortcut key is used for inserting table in LibreOffice Writer ?
(A) Ctrl+F11 (B) Ctrl+F12 (C) Ctrl+F10 (D) Ctrl+F9
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36.

37.

38.

39.

40.

41.

42.

forst offfth e S & '3 S CRe' & g JTéame doft 1§ ?

(A) Ctrl + Shift + V (B) Ctrl + Shift + Alt + O

(C) Ctrl + Alt + Shift + V (D) P T8l

What is the shortcut key in LibreOffice Impress for 'Unformatted Text' ?
(A) Ctrl + Shift + V (B) Ctrl + Shift + Alt + O

(C) Ctrl + Alt + Shift + V (D) None

forst 3iifthd Xgex § ad offg & fag TR Grofl &1 SUTNT [T oI B |
(A) Ctrl+F7 (B) Shift+F2 (C) F7 (D) F2

function key is used for spell check in LibreOffice Writer.
(A) Ctrl+F7 (B) Shift+F2 (C) F7 (D) F2

for ey ffaRfeT Rey &1 fa—ivan -

(A) T8 TP 9g-3UaNTehd! TR Red §
(B) TS U 3(fte JRIA i Rew &
(C) TS Aeclen&hi HTRfET Rer g

(D) JWiagd gt

Features of the Linux operating system :

(A) Itis a multi-user operating system

(B) Itis a highly secure operating system

(C) Itis multitasking operating system

(D) All of the above

forTerT SiToRfcTT Ried &1 q@ g

(A) FAd (B) i@ (C) =d (D) HHIS
The core of linux operating system is .

(A) Kernel (B) Terminal (C) Shell (D) Command
fora IToRfET Riked & w=dl &I g & ol {69 S &1 Sud fhar Srar g 2
(A) delete (B) rm (C) dm (D) erase
Which command is used for removing files in the Linux operating system ?

(A) delete (B) rm (C) dm (D) erase

fors 3iffthg & Fe e & o Wicahe Holl FT | 2

(A) Citrl+C (B) Citrl + X (C) Cirl+K (D) Shift + X
What is the shortcut key to cut in LibreOffice ?

(A) Ctrl+C (B) Ctrl+X (C) Ctrl+K (D) Shift + X
forst Sifftha Ager H TR T forg g & yaar g 2

(A) T ® A (C) TEd (D) T

In LibreOffice Writer, Ruler option is found in which menu ?

(A) Tools (B) View (C) File (D) Insert
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43.

44,

45.

46.

47.

48.

frafiea & @ o s it Ager & Ted IR § AiNlg T8l § 2

(A) HHE BT MH (B) US Bl

() ol (D) SWRIad ¥ ¥ By Ta!

Which of the following is not present in the status bar of LibreOffice Writer ?
(A) Name of Computer (B) Page Number

(C) Character (D) None of the above

forst 3iifthe dhew B iHe TR 8H W $IF w1 fog fe@rs <arg 2

(A) @ (B) # C) $ (D) &
Which sign is visible when there is a Formula Error in LibreOffice Calc ?

(A) @ (B) # C) $ (D) &
fordlt ToRe & SR G TS ARA @ ?

(A) fodr arza (B) MR @A (C) 3UdrsA (D) 3{UR dreA
What is the line given above a text ?
(A) Below line (B) Over line (C) Upline (D) Upper line

Alt+Page Downmﬁﬁmﬁ@aﬁﬁmqﬂﬁa?mwmwa ?
(A) SO shacpgam s e (B) o1 Sthae IdT 3ATEH WSS TR ST

(C) fusd wgs feam (D) TISS M A Ugal Wes UR S
Alt+Page Down key is used for which of the following effect in Slide Show ?

(A) Play next effect (B) Go to next slide without playing effects
(C) Show previous slide (D) Jump to first slide in slide show
3R IR A H geR fpg /M W i@ 3a g 2

(A) SfdH (B) SMR™H

(C) sSaH (D) IWiad ¥ I PIs Tal

Usually signature appears at which place in email ?

(A) Atthe end (B) In beginning

(C) In middle (D) None of the above

forst 3iifthg 599 Q {5 g WewiH IR HTH B Jhdl g ?

INRESE B) fomey (C) B® (D) IWiad gt
Which of these platforms can LibreOffice work on ?
(A) Windows (B) Linux (C) Mac (D) All of the above
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49.

50.

51.

52

53.

UH UPHR HI ISR AraRur forgd fawdl &) ardfde aRaw § B U gy fear
ST G|

(A) 3HRid (B) siel-gufia

(C) IR-3ARiE (D) daffa

A type of VR environment in which subjects are visually isolated from the real
environment.

(A) Immersive (B) Semiimmersive
(C) Non immersive (D) Augmented

DH It U ffored Yram siavur &t fafy 781 g 2

(A) UPI (B) NFET (C) RTGS (D) IMPS
Which one is not the method of Digital Payment Transfer?

(A) UPI (B) NFET (C) RTGS (D) IMPS
39 3R PT Tl A9 I :

(A) T (B) 1g (C) iwa (D) ST
Choose the correct name of Web browser :

(A) Google (B) Yahoo (C) Gmail (D) Opera

forst SITth o WS- SHferRiT Vi Dl 9ga &SI Iad Gxdlas & & HI GAIfa
1 IHRAT a3 & o forg Tiéare ot o1 SUTNT fabat ST | 2

(A) Shift+Ctrl+R  (B) Shift+Ctrl+X  (C) Shift+Ctrl+S (D) Shift+R

Which shortcut key is used for restoring or refreshing the view of the current

document after changing the anti-aliasing settings in LibreOffice ?
(A) Shift+Ctrl+R  (B) Shift+Ctrl+X  (C) Shift+Ctrl+S (D) Shift+R

forst 3iifth dheep T YqH S AT | 2

(A) 5% (B) 20% (C) 15% (D) 25%
What is the minimum zoom in LibreOffice Calc ?

(A) 5% (B) 20% (C) 15% (D) 25%
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54. fos 3iiftra Wgex A goie fore Sien & fore A o 9 59 grolt &1 Ui fsan S B

(A) Citrl+ F12 (B) Ctrl+Shift+ F12

(C) F12 (D) Shift+F12

Which of the following key is used to add bullet list in LibreOffice writer.
(A) Citrl+ F12 (B) Ctrl+Shift+ F12

(C) F12 (D) Shift+F12

55. Calc TISMc B! 9 B P ol BIsd TaIeT HT g ?

(A) .ods (B) .odl (C) .xIx (D) .odc
What is the file extension to save Calc spreadsheet ?
(A) .ods (B) .odl (C) xIx (D) .odc

56.  fore T o B! &1 UfSe HA & fo i 11 fddhed Iuasy g 2
(A) 9 R s e (B) UfRaRIcad D8

(C) TS If¥F PIs (D) THIPK T
Which option is available for editing the macros in LibreOffice ?
(A) Save original Basic code (B) Executable code
(C) Load Basic code (D) None of this

57. BIeT-1 BT SUANT B & a4 Ricdhe Poil 1 il 2

(A) Ctrl+4 (B) Ctrl+2 (C) Ctrl+3 (D) Ctrl + 1
What will be the shortcut key to use Heading-1 ?
(A) Ctrl +4 (B) Ctrl+2 (C) Cirl+3 (D) Ctrl + 1

58. forst 3iffthy H gaH 3R 3ifiiedH fSWhiee i< STHR T | 2

(A) 9,96 (B) 6,69 (C) 7,72 (D) 11,96
What is the minimum and maximum default font size in the LibreOffice ?
(A) 9,96 (B) 6,69 (C) 7,72 (D) 11,96

59. fors oiifte &, Fufafad 7 T f5a Wexiie dited’ & U & T fhar Srar g 2

(A By (B) Calc

(C) AR (D) HEHES AR

In LibreOffice, Which of the following is used as Spreadsheet Software ?
(A) Math (B) Calc

(C) Writer (D) Customized software
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60.

61.

62.

63.

64.

forsr 3iffp g Peep | T A g |

(A) TR (B) ¥ degst #1¢U
(C) GXITASIIHRUT DI HH (D) WHal # 3ifRed
is the most common limitation in LibreOffice Calc.
(A) Error-checking (B) The trap of fixed values
(C) Lack of documentation (D) Operators in formulas
g d T o TP 3Ye fSaza 8l g ?
(A) TITUS (B) A3 (C) WM (D) W
Which of the following is not an input device ?
(A) Touch Pad (B) Mouse (C) Monitor (D) Scanner

forst 31fth g IgeR T ST &f He] R o foIE by Foit o1 SUTNT fohaT SITaT | 2

(A) Ctrl+N (B) Ctrl+Shift+N  (C) Shift+O (D) Ctrl+Shift+O
Which key is used to manage the template in LibreOffice Writer ?

(A) Ctrl+N (B) Ctrl+Shift+N  (C) Shift+O (D) Ctrl+Shift+O
AT T g ?

(A) U UPHR Bl fhpipe!

(B) UMR g UlmR Jead W U faafid aoR

(C) TH HeIPd AR

(D) U Hal

What is Blockchain ?

(A) A type of cryptocurrency

(B) A distributed ledger on a peer to peer network
(C) A centralized ledger

(D) A Currency

3R.UTH. HT IO FU TG ?

A) e TR AERt (B) YSH Uaty HERY

(C) S TR AARY (D) SWRgd & Y P g
What is the full form of RAM ?

(A) Read Access Memory (B) Random Access Memory
(C) Red Access Memory (D) None of the above
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65. TR HIS BT Y B :

A) Bd R are B) f@® AfiT s
(C) ®ac RO HIg (D) 6 I ®I5 Ta!
QR code means :
(A) Quick Response Code (B) Quick Rolling Code
(C) Quite Response Code (D) None of the above
66. fore SIIfth Y S0 &1 WId UTRICTH 1§ 2
(A) .oft (B) .odt (C) .ods (D) .odp
What is the file extension of LibreOffice Impress ?
(A) .oft (B) .odt (C) .ods (D) .odp

67. M IIIR B T Y HfGgHH R1eR g &1 ZMd Hrar g 2

(A) 511 (B) 508 (C) 510 (D) 509

Which error code indicates the missing equals sign from the formula?

(A) 511 (B) 508 (C) 510 (D) 509
68. dfc fordll R | g § dl 98 “J” Tg! HR Tl

(A) PHIRWR (B) TSR

(C) SRR (D) 3iTaefeT e

If a computer does not have the , it cannot "boot."

(A) Compiler (B) Loader

(C) Assembler (D) Operating system

69. TITHA W HFTUIwUT :
(A) Riud Ad <fH9a melsia (B) Riud Ad TIHR Wieidhid
(C) Riud #d g Wieidid (D) IWiad ¥ I DS Tal
SMTP stands for :
(A) Simple Mail Terminal Protocol (B) Simple Mail Transfer Protocol
(C) Simple Mail Transport Protocol (D) None of the above

70. eI g AT YT g

A) fgex (B) feicress (C) cduH (D) S
Choose the correct Instant Messaging app :
(A) Twitter (B) LinkedIn (C) Telegram (D) Instagram
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71. foe offfthg A A R A Q o1 I1 f$hiee Bi< PR § ?

(A) 8 (B) 10 (C) 14 (D) 12

Which of the following default font size in LibreOffice Writer ?

(A) 8 (B) 10 (C) 14 (D) 12
72. THUUA. S EGH TG :

(A) TBgIfere 3ffd Aead (B) Wgiferes TRam Aeafd

(C) el TRarHead (D) eiffered ufan eads

MAN known as :

(A) Metropolitan All Network (B) Metropolitan Area Networking

(C) Metro Area Network (D) Metropolitan Area Network

73. SR &1 Uiy FEfied gew! S SRR :
(A) HUS gfe 3R T, (B) 3MToRfT Rew 3R UTrpeH

(C) ¥ 3R YT AR (D) BTS f$%p 3R Fardt grsa
The CPU of a computer is made up of the following components :
(A) Control Unit and ALU (B) Operating System and Application
(C) ROM and Main Memory (D) Hard Disk and Floppy Drive
74. s Sy g & feWhice wgd AM gl
(A) SNSI BrRd (B) 3FCl3eS 1
(C) B (D) SWRI H A PIg T
is the default file name in LibreOffice Writer.
(A) Odt file (B) Untitled 1
(C) New file (D) None of the above

75. TSIcRH ot Ugall Wge Bl AU fhg TH I THI© ?
(A) THWRS (B) W WRs (C) ¥NHwWRS (D) PIs Aol

By what name do you know the first slide in the presentation ?
(A) Home Slide (B) Main Slide (C) Title Slide (D) None

76. S II I8l § ?

(A) WEHNY fdT (B) dTg () fafwdifear (D) @@
Which one is not the search engine ?
(A) Microsoft Bing (B) Yahoo (C) Wikipedia (D) Google
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77.

78.

79.

80

81.

82.

(A) ScRAC UICIdhId UgH (B) ST UlAIZER UgY

(C) STHC UEIId TgH (D) T QP T

IP address stands for :

(A) Internet Protocol address (B) Internet Provider address
(C) Intranet Protocol address (D) None of the mentioned
3NCT QRferd § Fifs |

(A) TE TS IR & AU ST g  (B) g I ol fobaT ST Hebell
(C) SUH FAT 3T § (D) TTH I PIS I

OTP is safe because :
(A) Itis different for every access (B) It cannot be shared

(C) Itis easy to generate (D) None of the above
forst offftha o U WRIa SR@IT & forg Riddhe Fofl FTE 2

(A) Ctrl+Shift+A (B) Ctrl+Shift+X

(C) Citrl+Shift+V (D) Citrl+V

What is the shortcut key for Paste Special dialog in LibreOffice ?
(A) Ctrl+Shift+A (B) Ctrl+Shift+X

(C) Citrl+Shift+V (D) Citrl+V

3R Hofl 78 SHeT WOl dTel & Ac aied | g1 ¢ 3R 7 81 Refler & gialey # g ol 98
gl g7l 2 e fashed g

(A) SR (B) Wediggd  (C) 3M3calqMd (D) ITH I DI el

If send email is not in sender sent-box nor in the inbox of receiver then where it will
be ? Choose the correct option

(A) In Draft (B) In Sent-box

(C) In Outbox (D) None of the above

forst oiffth o witfe I & SIANT &I Wia & e farg gt 1 IuanT forar ST & 2

(A) Ctrl+L (B) Citrl+Shift +1  (C) Citrl+t (D) Ctrl+1
Which key is used to open the Format Cells dialog in LibreOffice ?

(A) Ctrl+L (B) Ctrl+Shift +1  (C) Citrl+t (D) Ctrl+1
fors sifftp o file S/a@r Qe &t Qicdhe Fol g 2

(A) Ctrl+G (B) Ctrl+A (C) Cirl+P (D) Ctrl+D
What is the shortcut key to Open the Print dialog in LibreOffice ?

(A) Ctrl+G (B) Ctrl+A (C) Cirl+P (D) Ctrl+D
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83. 3T TH W3S H 3femdH fha- e oiie Johd § ?

(A) 3 (B) 2 (C) 5 (D) 10

What is the maximum number of views you can add to a slide ?

(A) 3 (B) 2 (C) 5 (D) 10
84. e{riwu?qaﬁ GE

) oA oy UiarseR (B) Fc¥c Ffay Ufgaex

(C) gadc I UidIg e (D) Sec I UfgaeR

ISPisa:

(A) Internet Service Provider (B) Internet Service Predictor

(C) Internet Source Provider (D) Internet Source Predictor
85. 0 T Q&I TP ead cruaron -Tg g 2

(A) &9 crararsi (B) T cidrarsit

(C) UKt g Uisdt crararsit (D) ¥R cIUrdrsit

Which of the following is not a Network Topology ?

(A) Bus Topology (B) Ring Topology

(C) PC to PC Topology (D) Star Topology

86. TofifEd # ¥ S1H-91/ wide yRFdeH Afsd 878 2
(A) UfsTd &3S (B) URdc dIds  (C) TRfde dads (D) IWRiad It
Which of the following is/are the cloud deployment models ?
(A) Public Cloud (B) Private Cloud (C) Hybrid Cloud (D) All of the above

87. Holl BT IR forel HTh Agex H for 1 WRTw ukad= & @8 o8 &
forg e Sl 31
(A) Shift+Enter (B) Ctrl+L (C) Ctrl+Enter (D) Ctrl+O
key is used for Line Break in LibreOffice Writer without paragraph
change.
(A) Shift+Enter (B) Ctrl+L (C) Ctrl+Enter (D) Ctrl+O
88. forsl 3Hifthy hew & Ha@ e g |
(A) 8 (B) 12 (C) 14 (D) 10
total charts are in LibreOffice Calc.
(A) 8 (B) 12 (C) 14 (D) 10
89. W I A & fore Fufafad # ¥ & Tt thaR drolt &1 TRNT fasa T § 2
(A) F1 (B) F3 (C) F7 (D) F8
Which of the following functions key is used to perform a spelling check ?
(A) F1 (B) F3 (C) F7 (D) F8
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90.

o1.

92.

93.

94.

95.

96.

o 3fffthg Iz A fpam Ag e g 2

(A) 11 (B) 13 (C) 8 (D) 10
How many menus are found in LibreOffice Writer ?
(A) 11 (B) 13 (C) 8 (D) 10

e Fexe dfhT H R 49 SRIHR o’ & o fod yira fafer &1 SoamT faman
ST & ?

(A) SRENTy  (B) gUlemE (C) TASUGCI (D) SSUHUITH

In Online Internet Banking, which payment method is used to immediately transfer
the money?

(A) RTGS (B) UPI (C) NEFT (D) IMPS
Frafafed o 9 oF o1 Taae e fag ofiftr @ defda 78l g 2

(A) .odt (B) .ods (C) .odp (D) .rtf
Which of the following extensions is not related to the LibreOffice ?

(A) .odt (B) .ods (C) .odp (D) .rtf
HYR Acadh & ol UHR BT 999 BN ;

(A) TelUUA. (B) UH.UTA.

(C) S=Y.UTA. (D) IWRiad Tt

Select the correct type of Computer Network :

(A) LAN (B) MAN

(C) WAN (D) All the mentioned

FIRUA BT Y0 FU G : 5

(A) gHBIH A Aldex (B) gHwIH AN didex

(C) IFwrH RE didhrH (D) FwrH A drex

URL Stands for :

(A) Uniform Roll Locator (B) Uniform Resource Locator

(C) Uniform Resource Location (D) Uniform Resource Loader

—round (175,-2) %1 deg. g7

(A) 200 (B) 100 (C) 0 (D) 79 Y PIg gl
is the value of =round (175,-2) ?

(A) 200 (B) 100 (C) 0 (D) None of this

fors sifftp & <1 fAfdy v & fore fo=1 <) fawedl 1 I forar S 8 2

(A) RGB,CMYL (B) RGB,CMYK (C) RGB,RMYK (D) 378 &S gl
Which two options in LibreOffice are used to specify color ?

(A) RGB,CMYL (B) RGB,CMYK (C) RGB,RMYK (D) None of this
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97. fore Siffthy Fewb A AT P! g B! Uiddhe Foll g?

(A) Citrl +C (B) Citrl + + (C) Delete (D) Ctrl + -
shortcut key of deleting of the cell in LibreOffice Calc ?
(A) Citrl +C (B) Citrl + + (C) Delete (D) Ctrl + -

98. fore 3ihY I5ex H Tl UHR & U RUSH & T BN ?

(A) e (B) wES

(C) dSWHU (D) Tice 3R TeHhy gl
Select the correct type of page orientation in LibreOffice Writer ?

(A) Portrait (B) Slide

(C) Landscape (D) Both Portrait and Landscape

99. fEfafyd & § HF forsl 3iifthy Yge &1 U Uew 11 § 2

(A) o9 (B) 3R (C) 3B (D) URTWIRR
Which of the following is not a component of the LibreOffice suite ?
(A) Base (B) Writer (C) Impress (D) Explorer

100. FEfRad & 9 319 fom Ser Coaroie a1 § 2

(A) Apache Hadoop (B) Apache Spark

(C) Apache Kafka (D) Apache Pytorch

Which of the following is not Big Data Technologies ?

(A) Apache Hadoop (B) Apache Spark

(C) Apache Kafka (D) Apache Pytorch
-00o-
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